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1. Ü ÈÛ Í ©Ûè© Ûà ï õÁ ¨Û  …¶Ûé › Ûé¦ øÛ ¨Û Ûé¶ÛÛ é …¬ÛÙ Í Û ¾Û ›Û ÈÛ Ûé. Ü ÈÛ Í ©Ûè© Ûà ï õÁõ¨ Û  …¶Ûé › Ûé¦ øÛ ¨Û ¶Ûà  ¸ÛóÜ ’õ ýÛÛ ¶Ûé ï õ ýÛÛ  ¸ÛÜ Áõ ¼ÛÇ Ûé 
…Í ÛÁ õ ïõ Áéõ  ™ö é ?  14 

…¬ÛÈÛÛ 

 …Ûíé²Û éÜ •Û ïõ  …¬ÛÙÉÛ Û Íª Û ¶ÛÛé …¬ÛÙ, Í Ûà ¾ÛÛ …¶Û é ¾Û Ð ü«ÈÛ  ÍÛ ¾Û ›Û ÈÛÛ é. 
 
2. È Û Í© Ûä¶Û à Ý ï õ¾Û© Û Ü¶Û µÛÛÙÁ õ ¨Û ¶Ûà ›ä÷þùà - ›ä÷þùà  Á õà ©Û Ûé¶Ûà  ˜Û ˜Û ÛÙ ï õÁõ Ûé. 14 

…¬ÛÈÛÛ 

 ˜Û ˜ÛÛÙ ï õÁ õÛé : 
 ( i) ¸ ÛóÛ é› ÷éî ¤ø¶Û Ûé Time P r o f ile. 
 ( ii) ¸ Ûé§øà ¶Ûé ¾ÛæÅ Û ÈÛ ÈÛÛ ¶ÛÛ  ›ä÷þùÛ - ›ä÷þùÛ  ¶ÛÛ¨ ÛÛ ïõ à ýÛ  • Ûä̈ ÛÛé«Û Á õ 
 
3. ¸ Ûé§øà ¶Û Û ›ä÷þùÛ -› ä÷þùÛ  Š°éùÉÛ Û é¶Ûà  ˜Û ˜Û ÛÙ ï õÁõ Ûé. 14 

…¬ÛÈÛÛ 

 …Ûíé²Û éÜ •Û ïõ  Í ¬ÛÛ ¶Ûà ýÛï õÁ õ¨ Û ¶ÛÛé ¸ ÛóÛ é. ÈÛé¼Û Á õ ¶Û Û Ü Í Û± ùÛ×© Û ¶Ûä× ¤øà ï õÛ © ¾Ûï õ  ¾ÛæÅ ýÛÛ×ï õ ¶Û ï õÁõ Ûé. 
 
4. …Ûíé²Û éÜ •Û ïõ  ¶Û Û¨ ÛÛ× È ýÛÈ ÛÍ ¬ÛÛ ¶Û Û ›ä÷þùÛ - ›ä÷þùÛ  ¼Û ÛÔ  Í ÛÛ µÛ ¶ÛÛé¶Û à ˜Û˜Û ÛÙ ïõ Áõ Ûé. 14 

…¬ÛÈÛÛ 

 Í Û ¾Û ›Û ÈÛ Ûé : 
 ( i) …Ûíé²Û éÜ •Û ïõ  ¶Û Û¨ ÛÛ× È ýÛÈ ÛÍ ¬ÛÛ ¶Û Û ›Ûé”Û ¾ÛÛé 
 ( ii) …Ûíé²Û éÜ •Û ïõ  ¶Û Û¨ ÛÛ× È ýÛÈ ÛÍ ¬ÛÛ ¶Û Û ›Ûé”Û ¾ÛÛé Ü ¶Û ÈÛ ÛÁ õÈ ÛÛ ¶Û à Áõà ©Û Ûé 
 
5. ¼Û Ðäü Ü ÈÛ ï õÅ ¸Ûà ýÛ ¸ ÛóÊ¶Û Ûé. 14 
 ¶Û à ˜Ûé¶Û Û  þùÁ éõ ïõ  ¸ÛóÊ¶Û  ¾ÛÛ ¤éø ýÛ Ûé• ýÛ  Ü ÈÛ ïõ Å¸ Û  ¸ ÛÍ Û×þù ï õ Áõà  ©Û ¾Û ÛÁ õà  Š«Û Áõ ÈÛ Ðü à ¾ÛÛ × Í ÛÈ ÛÛÅ Û  Í ÛÛ ¾Û é ¾ÛÛª Û  © Ûé¶ÛÛ é ¶Û×¼Û Áõ 

Å Û ”Û Ûé. þùÛ .©Û . ¸ Ûó. 1 = a, ¸Ûó. 2 =  d . 
 ( 1)  …Ûíé²Û éÜ •Û ïõ  …¬ÛÙÉÛ Û Íª Û ¶ÛÛé È Û¨ ÛÙ¶Û Û© ¾Û ï õ ½Û Û• Û _ __ _ _ ¶Ûà  ˜Û ˜Û ÛÙ ï õ Áéõ  ™öé. 

  ( a) …Ûíé²Û éÜ •Û ïõ  …¶Ûé È ýÛÛ ¸ÛÛ Áõ  ÍÛ×Í ¬Û Û…Ûé¶Û Ûé ÍÛ ÈÛë 
  ( b ) ï äõ þùÁõ ©Û à ÍÛ×Í Û Û µÛ ¶Û Ûé¶Û é Å Û• Û© Ûà  ¾ÛÛ ÜÐ ü© Ûà  ¸ ÛæÁ õà ¸ ÛÛ¦éø ™ö é 
  ( c) Ð ü Áõà ºõÛé, ï äõ þùÁõ ©Û à ÍÛ×Í Û Û µÛ ¶Û Ûé …¶Û é ÍÛ Áõ ïõ ÛÁõ à Ü ¶Û ýÛ¾ÛÛé …×• Ûé ¾ÛÛÜÐ ü ©Û à ¸ÛæÁ õà  ¸ÛÛ ¦éø ™öé 
  ( d ) Š¸ Û Áõ ¶Û Û ¼Û µÛÛ 

 ( 2)  …Ûíé²Û éÜ •Û ïõ  …¬ÛÙÉÛ Û Íª Û ¶ÛÛé Ü ÈÛ ÊÅÛéÌ Û ¨Û Û© ¾Û ï õ ½Û Û• Û __ _ _ __ _ ¶Û à ˜Û ˜ÛÛ Ù ïõ Áéõ  ™öé. 
  ( a) ¸ Ûé§øà ¶Û Ûé ¾ÛÐ ü «Û ¾Û  ¶Û ºõ Ûé 
  ( b ) È Ûȩ́ Û ÛÁõ  …¶Ûé ÈÛ ÛÜ ¨Û šýÛ ¶ÛàÜ ©Û 
  ( c) Ü ¼Û ¡ö ¶ÛéÍ Û ¶Ûà  …¶Ûé Ü ¶Û ¨ÛÙýÛ  ïõ Áõ ÈÛ Û …×• Ûé¶Û à ¶ÛàÜ ©Û  
  ( d ) Š¸ Û Áõ ¶Û Û ¾ÛÛ ×¬Ûà  ï õÛé̂  ¶ÛÜ Ðü 
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 ( 3)  …Ûíé²Û éÜ •Û ïõ  …¬ÛÙÉÛ Û Íª Û …é 
  ( a) …éï õ ¾Û ÅÛ “Ûà  …¬ÛÙÉÛ Û Íª Û ¬Ûà  ¬ÛÛ é¦äø …ÅÛ •Û 
  ( b ) Í Û ¾Û •Û óÅÛ “Û à …¬ÛÙÉÛ Û Í ªÛ ¬Û à ¬Û Ûé¦äø …Å Û• Û 
  ( c) Í Û×̃ Û ÛÅ Û ïõà ýÛ …¬Û ÙÉÛ ÛÍ ªÛ  › ÷éÈ Ûä× 
  ( d ) Š¸ Û Áõ ¾Û Û×¬Û à ïõ Ûé̂  ¶ÛÜ Ð ü 

 ( 4)  È ýÛÜ î© Û• Û© Û ¾Û ÛÜ ÅÛ ïõ àÈ ÛÛÇ à ¸Ûé§øà  ýÛ Ûé• ýÛ ™öé šýÛ ÛÁéõ  ¼Û›Û Áõ 
  ( a) …¾Û ýÛÛÙÜ þù© Û Ðü ÛéýÛ  ( b ) ¼Û ›Û Áõ  ¾Û ýÛÛÙÜ þù© Û …¶Ûé Í ¬ÛÛ ¶Ûà ýÛ Ðü ÛéýÛ 
  ( c) …˜ÛÛ é‘õ ÍÛ  Ð üÛéýÛ   ( d ) › Ûé”Û ¾Û ÈÛ ÛÇä Ð üÛ éýÛ 

 ( 5)  ½Û Û• Ûà þùÛÁ õà ÈÛÛ Çà  ¸ Ûé§øà ¾ÛÛ× ½ÛÛ •Û à þùÛ Áõ Ûé¶Û à ÍÛ× ”ýÛ Û ¶Û à ¾ÛÐ ü© Û ¾Û ¾Û ýÛ ÛÙþùÛ  
  ( a) 2   ( b ) 20  
  ( c) 7   ( d ) Š¸ Û Áõ ¾Û Û×¬Û à ïõ Ûé̂  ¶ÛÜ Ð ü 

 ( 6)  ¶Û à ˜Ûé¶Û Û ¾Û Û×¬Ûà  ïõˆ  › Ûé̂ ¶¤ø Í ¤øÛéï õ ï×õ ¸ Û ¶Û à •Û ¨ÛÛ ýÛ ™öé ? 
  ( a) Ð ü ÛéÅ ¦ øá •Û  ï×õ ¸ Û ¶Û à 
  ( b ) ¸ ÛóÛ ˆ ÈÛé¤ø Ü ÅÛ Ü¾Û ¤éø¦ ø ï×õ ¸ Û ¶Ûà 
  ( c) ¸ ÛóÛ ˆ ÈÛé¤ø ï ×õ ¸Û ¶Ûà › ÷é ¸ ÛÜ ¼ÅÛ ïõ  › ÷éÈ Û à µÛ ÛÁõ ÈÛ Û ¾ÛÛ × …Û ÈÛé   
  ( d ) Š¸ Û Á ¶Ûà  ¼Û µ Ûà › ÷ 

 ( 7)  ï õ Ûé- …Ûȩ́ Û Áéõ Ü ¤øÈÛ  Í ÛÛéÍ Û Û ýÛ ¤øà ¶ÛÛ  þùÁéõ ï õ Í Û½ýÛ ¶Ûé _ _ _ __ _ _ . 
  ( a) …Í Û ¾Û Û ¶Û ¾Û© Û¶ÛÛé …Ü µÛ ïõ ÛÁõ ( b ) Í Û ¾Û Û ¶Û  ¾Û© Û ¶Û Ûé …Ü µÛ ïõ ÛÁ õ 
  ( c) ï õ Ûé̂  ¾Û© Û ¶ÛÛ é …Ü µÛ ïõ ÛÁ õ ¶Û Ü Ðü ( d ) Å ÛÛ •Ûä ¸ Û¦ ø ©Ûä× ¶Û ¬Ûà 

 ( 8)  1956¶Û Û  ˆÜ ¶¦ øýÛ ¶Û  ï×õ ¸Û ¶Ûà …éî ¤ø ¸ Ûó¾ÛÛ ¨Ûé Í Û Áõ ïõ ÛÁõ à ï×õ ¸ Û ¶Ûà ¶ÛÛé Ü Ð üÍ Í ÛÛé _ _ __ _ _ 
  ( a) 51 ¤øï õ Û ï õÁõ ©Û Û …Ûé™ö Ûé ¶Û ÜÐ ü ( b ) 20 ¤øï õ Û ï õÁõ ©Û Û× …Ûé™ö Û é ¶Û Ü Ðü 
  ( c) 60 ¤øï õ Û ï õÁõ ©Û Û× …Ûé™ö Û é ¶Û Ü Ðü ( d ) Š¸ Û Áõ ¾Û Û× ¬Û à ïõ Ûé̂  ¶ÛÜ Ð ü 

 ( 9)  Í Û Áõ ïõ ÛÁõ ¶ÛÛé ˆ Üî ÈÛ ¤øà ¾ÛÛ × 50 ¤øïõ Û ïõ Áõ ©Û Û× ÈÛ µÛ ÛÁéõ  Ü Ð üÍ Í ÛÛé _ _ ___  ¾Û Û× ¶Û Ðü Ûé̂  ÉÛ ïéõ . 
  ( a) ï õ Ûé- …Ûȩ́ Û Áéõ Ü ¤øÈÛ  Í ÛÛéÍ Û Û ýÛ ¤øà ( b ) ¸ ÛÜ ¼Å Ûï õ ïõ Ûȩ́ ÛÛëÁ éõ ÉÛ ¶Û 
  ( c) Í Û Áõ ïõ ÛÁõ à ï×õ ¸ Û ¶Ûà  ( d ) › Ûé̂ ¶¤ø ÍÛ éî ¤øÁõ 

 ( 10)  ¶Û à ˜Ûé¶Û Û ¾Û Û×¬Ûà  ïõ ýÛä× Üµ ÛÁ õÛ ¨Û ¤æ×øï õ Û• ÛÛÇ Û ¶Ûä× ¼Û ÛÔ  Í ÛÛ µÛ ¶Û •Û ¨ÛÛ ýÛ ? 
  ( a) R etain ed  ¶Û ºõÛé  ( b ) ¼Û êï õ ’éõ Ü¦ ø¤ø 
  ( c) Lo an  cap ital  ( d ) ï õ Áõ ÈÛéÁ õÛ ¶Ûä× ¸Û óÛéÈ Ûà ¡ö ¶Û 

 ( 11)  ¶Û à ˜Ûé¶Û Û ¾Û Û×¬Ûà  ïõ ýÛÛé S tr u ctur al R atio ¶Û¬Ûà  ? 
  ( a) G ear in g R atio  ( b ) D eb t- equ ity  R atio  
  ( c) N et- Wor th  R atio  ( d ) Q u ick- As s et R atio 

 ( 12)  ¶Û à ˜Ûé¶Û Û ¾Û Û×¬Ûà  ïõ ýÛä ÜÈÛ µ ÛÛ ¶Û  ÍÛÛ ˜Ûä ™öé ? 
  ( a) ¤øÛ ˆ ¾Û - ¸ÛóÛ éºõÛ ˆÅ Û …¶Ûé ¶Û ºõÛ /”ÛÛé¤ø¶Û Û  ÍÛÁ õÈ ÛíéýÛ Û ¾Û Û× ïõ Ûé̂  ºéõ Áõ ºõ ÛÁ õ ¶Û ¬Û à . 
  ( b ) ¤øÛ ˆ ¾Û - ¸ÛóÛ éºõÛ ˆÅ Û ¸ÛóÛ é› ÷éî ¤ø¶Û à …ÛÜ ¬ÛÙï õ  ÍÛ ± ùÁõ ©ÛÛ  ¼Û ©Û ÛÈ Ûé ™öé. 
  ( c) ¶Û ºõÛ -”ÛÛé¤ø¶Û ä× Í ÛÁ õÈ ÛíéýÛ ä× –Û ÍÛ ÛÁõ Ûé …¶Û é È ýÛ Û› ÷¶Û à Áõ ïõ ¾Û  •Û ¨Û© ÛÁ õà ¾ÛÛ × Å Ûé© Ûä× ¶Û ¬Û à . 
  ( d ) Å ÛÛé¶Û - ¾Ûæ¦ øà …¶Ûé ÉÛéÁ õ ¾Û æ¦ øà  È Û ˜˜Ûé¶Û Ûé ï õÛé ˆ  ©Û ºõ ÛÈ Û© Û ¶Û ¬Ûà . 

 ( 13)  ¶Û à ˜Ûé¶Û Û ¾Û Û×¬Ûà  ïõ ýÛä× ÜÈ Ûµ ÛÛ ¶Û  N PV ¾Û Û ¤éø Í ÛÛ ˜Ûä× ™öé ? 
  ( a) ¶Û à ˜ÛÛ  È ýÛÛ › ÷¶Û Û þùÁéõ  ‹˜Ûä NP V ( b ) ‹˜Û Û È ýÛ Û› ÷¶ÛÛ þùÁéõ  ‹˜Ûä N PV 
  ( c) ¶Û à ˜ÛÛ  È ýÛÛ › ÷¶Û Û þùÁéõ  ¶Û à˜Ûä NPV ( d ) ‹˜Û Û È ýÛ Û› ÷¶ÛÛ þùÁéõ , ¶Ûà ˜Û ä× N PV 

 ( 14)  ”Û ˜ÛÙ Š¸Û Áõ ¶ÛÛé M ark - up  ï õˆ  Á õà© Ûé ¶Û ‘õ à ¬Û Û ýÛ  ™öé ? 
  ( a) G o in g- r ate Ý ïõ ¾Û ©Ûé  ( b ) A ccep tan ce Ý ïõ ¾Û ©Ûé 
  ( c) Tar g et R ate o f r etu r n ( d ) Ü Í Û± ùÛ×Ü ©Û ïõ  Ý ïõ ¾Û© Û Ü ¶Ûµ ÛÛÙÁ õ ¨Û ¶Ûà ¸ Û± ùÜ© Û 

___________ 
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1. Explain the meaning of diversification and integration. What are the factors affecting 

the process of diversification and integration ? 14 

OR 

 Explain the meaning, scope and importance of Industrial Economics. 

 

2. Discuss the various product pricing procedures. 14 

     OR 

 Discuss the followings : 

 (i) Time Profile of a project. 

 (ii) Various financial ratios for assess the firm. 

 

3. State the various objectives of the firm.  14 

     OR 

 Critically evaluate Prof. Weber’s theory of Industrial Location. 

 

 

4. State the various external sources of Industrial finance system. 14 

     OR 
 Explain : (i) Risks of Industrial Finance system. 

    (ii) Measures to avert the risk of Industrial finance system. 

5. MCQ :      14 
 

 For the following each question, select the best answer and write only its number                 

(a, b, c, or d) against the question number in your answer sheet. For example if the 

answer for Q. 1 is ‘a’ then write Q. 1 = a. 
 

 (1) Descriptive element of industrial economics talks about 

   (a) survey of industrial and commercial organization 

   (b) provide information regarding natural resources 

   (c) provide information about competitors, natural resources, government rules 

   (d) all of the above 
 

 (2) Analytical part of industrial economics talks about 

   (a) profit maximization of the firm 

   (b) trade and commercial policies 

   (c) business policy and decision making 

   (d) None of the above 
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 (3) Industrial economics is 

   (a) differentiated microeconomics 

   (b) differentiated macroeconomics 

   (c) differentiated managerial economics 

   (d) None of the above 
 

 (4) Sole proprietorship is suitable when market is 

   (a) unlimited (b) limited and local 

   (c) uncertain (d) risky 
 

 (5) Upper limit of the number of partners in partnership firm is  

   (a) 2  (b) 20 

   (c) 7  (d) None of the above 
 

 (6) Which one is a type of Joint Stock Company ? 

   (a) Holding Company  (b) Private Limited Company 

   (c) Private Company deemed to be public (d) All of the above 
 

 (7) In Cooperative Society each member is having 

   (a) unequal voting right (b) equal voting right 

   (c) no voting right (d) not applicable 
 

 (8) According to Indian Companies Act 1956, Government Companies share is 

   (a) not less than 51% (b) not less than 20% 

   (c) not less than 60% (d) None of the above 
 

 (9) Government cannot hold more than 50% of equity in 

   (a) Cooperative Society (b) Public Corporations 

   (c) Government Companies (d) Joint Sector 
 

 (10) Which is a source of short term external finance ? 

   (a) Retained earning (b) Bank credit 

   (c) Loan capital (d) Taxation provision 
 

 (11) Which one is not a structural ratio ? 

   (a) Gearing ratio (b) Debt-equity ratio 

   (c) Net worth ratio (d) Quick-asset ratio 
 

 (12) Which statement is true ? 

   (a) There is no difference between time profile and profit and loss account. 

   (b) Time-profile shows economic viability of a project. 

  (c) Profit-loss account does not take into account depreciation and interest 

charges. 

   (d) There is no difference between loan capital and share capital. 
 

 (13) Which is true for NPV ? 

   (a) Lower the rate of interest, higher will be NPV 

   (b) Higher the rate of interest, higher will be NPV 

   (c) Lower the rate of interest, lower will be NPV 

   (d) Higher the rate of interest, lower will be NPV 
 

 (14) Mark-up on cost is determined by 

   (a) Going rate pricing (b) Acceptance pricing 

   (c) Target rate of return (d) Theoretical pricing method 

__________ 
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1. ËÛ éÜ ¨Û ïõ  …Ü ½Û •Û ¾Û ¬Ûà  Í ÛäÁéõ ”Û  Ü ¶Û ýÛ© ÛÍ Û×¼Û ×µ Û ¾ÛÛé¦éøÅ Û ¶ÛÛ  …Û •Û¨ Û ïõÛ é ¾ÛéÇ ÈÛ Ûé. 14 
…¬ÛÈÛÛ 

 ¶Û Ûêµ Û ÅÛ ”ÛÛé : 
 ( …) …¬ÛÙÜ ¾ÛÜ ©Û ÉÛÛ Íª Û ¶Ûä× Í È Û Äõ ¸Û  …¶Ûé ïõ Û ýÛÙ“ Ûéª Û . 
 ( ¼Û ) …Í ÛäÁ éõ ”Û  ÍÛ ¾Û àï õÁ õ¨ Û¶Ûä× …Û• Û¨ Û ¶Û . 
 

2. ËÛ éÜ ¨Û ïõ  …Ü ½Û •Û ¾Û  ³ùÛ Áõ Û ¶Û à ˜Ûé¶Û Û ¾Û Û×¬Û à •Û ¾Ûé © Ûé ¼Ûé¶Û à Í Û¾Û›æ÷© Û à …Û¸ ÛÛé : 14 
 ( …) Ü ÈÛ ÌÛ ¾Û -Ü ÈÛ ˜ÛÅÛ ¶Û© ÛÛ 
 ( ¼Û ) ¼Û Ðäü Ü ÈÛ µÛ Í Û¾ÛÁéõ ”Û ©ÛÛ 
 ( ï õ) Í È Û : Í ÛÐ ü ÍÛ×¼Û ×µ Û 
 ( ¦ ø) Í ¸ ÛÜ Ì ¤øïõ Áõ ¨Û “ÛÜ ©Û ¶Ûà Í Û¾Û Í ýÛ Û…Ûé 
 

3. • Û ¾Ûé © Ûé ¼Ûé ¸ ÛÁ õ ¶Û Ûêµ Û ÅÛ ”ÛÛé : 14 
 ( …) ¦ ø¾Ûà  ˜ÛÅ Û ÁõÛ ÉÛà 
 ( ¼Û ) Ü ¶Û ýÛ ©Û ÍÛ ×¼Û×µ Û  ¾ÛÛ é¦éøÅ Û ¶Û à ¾Û ÛÇ ”ÛÛ ïõà ýÛ Ü Í ¬ÛÁ õ© ÛÛ ¶Û ä× ¸Û Áõà “Û ¨Û 
 ( ï õ) ¸ ÛÛ Áõ Í ¸Û ÜÁõ ï õ …ÍÛÁ õÛé 
 ( ¦ ø) ¾Û ÛéÍ Û ¾Û à Ü ÈÛ ÊÅÛ éÌÛ ¨Û 
 

4. ¶Û à ˜Ûé¶Û Û ¾ÛÛé¦ éøÅ ÍÛ ¾ÛÛ×¬Û à •Û ¾Ûé ©Ûé ¼Ûé ÍÛ ¾Û ›Û ÈÛ Ûé : 14 
 ( …) ï õ ÛéýÛ ïõ  ¾ÛÛ é¦éøÅ Û 
 ( ¼Û ) …Û×Ü ÉÛ ïõ  ÍÛ ¾Û Û ýÛ Ûé› ÷¶Û ¾Û Ûé¦éøÅ Û 
 ( ï õ) …¶Ûäï æõ ÜÅ Û© Û …¸Ûé“ ÛÛ …Û é 
 ( ¦ ø) Ü ¦ øÍ ¤Öøà ¼ýÛä¤øà È Û  Å Ûé• Û ¾Û Ûé¦éøÅ Û ¶ÛÛé …ÛÅ ¾Û¶Û ¶Û Ûé …Ü ½Û• Û¾Û 
 
5. Í Û Û˜ÛÛ  › ÷ÈÛ Û ¼Û Ûé ¸Û ÍÛ ×þù ïõ Áõ Ûé : 14 
 (i) ‘BLUE’ ¾Û Û× E ______ ÍÛæ̃ Û È Ûé ™öé. 
   (a) Error (b) Estimates 

   (c) Estimators (d) …éï éõ ýÛ ¶Û Ð üá 
 

 (ii) Yt = b0 + _____ xi. 

   (a) a0 (b) b1 

   (c) a1 (d) …éï éõ ýÛ ¶Û Ð üá 
 

 (iii) Í ÛæÁ éõ ”Û Ü ¶Û ýÛ ©Û ÍÛ×¼Û ×µ Û  ¾ÛÛ é¦éøÅ Û ¾Û Û× ‘U’ _____ ˜ÛÅ Û ÍÛ æ̃ ÛÈ Ûé ™öé. 
   (a) ýÛ þù˜™ö (b) …¶ÛÜ ½Û ·Û ©Û 
   (c) …˜ÛÇ (d) …éï éõ ýÛ ¶Û Ð üá 
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 (iv) Cov (Xu) = ______. 

   (a) 0 (b) 1 

   (c) 
–
X (d) σ 

 

 (v) › Ûé E (uiuj) ≠ 0 Ð üÛéýÛ  ©Û Ûé ______ Í Û ¾Û Í ýÛ Û ÍÛ ›ÛÙýÛ  ™öé. 
   (a) Í Û ¾Û ÜÈ Û ˜Û ÅÛ ¶Û ©Û Û (b) Ü ÈÛ ÌÛ ¾Û -Ü ÈÛ ˜ÛÅÛ ¶Û© ÛÛ 
   (c) ’õ Ü ¾Û ï õ ÍÛ Ðü Í Û×¼Û×µ Û (d) …éï éõ ýÛ ¶Û Ð üá 
 

 (vi) 
∧
b1 = 

?

Σx
2
i

 

   (a) Σ(x – xi)
2 (b) Σxiyi 

   (c) Σy2
i
 (d) …éï éõ ýÛ ¶Û Ð üá 

 

 (vii) r2 = 1 – 
?

Σy2 

   (a) Σe2 (b) Σxy 

   (c) Σx
2 (d) …éï éõ ýÛ ¶Û Ð üá 

 

 (viii) 
xi – µ

S
x

 = ______. 

   (a) χ2 (b) F (c) t (d) …éï éõ ýÛ ¶Û Ð üá 
 

 (ix) …Û •Û ¨Û ïõ ¶Ûà  Ü ½Û ·Û ©Û Û _____ ³ùÛ Áõ Û È ýÛ Û”ýÛÛ Ü ýÛ ©Û  ï õÁéõ  ™öé. 

   (a) E(
∧
b) – b (b) 

Σ xy

Σ x2 

   (c) E ( )x – –x
2

 (d) E ( )y – –y
2

 
 

 (x) ¦ øÁõ ¼Ûà ¶Û- ÈÛ Ûñ¤øÍ Û ¶Û ¸Û Áõà “Û ¨Û ______ ¾ÛÛ ¤éø¶Û ä× ¸ ÛÁõ à“ Û¨ Û ™öé. 
   (a) Í È Û : Í ÛÐ ü ÍÛ×¼Û ×µ Û (b) ¸ ÛèÜ Ì¥ ø© Û- ˜Û ÅÛ -Á õÛÜ ÉÛ 
   (c) Ü ½Û ·Û© Û© ÛÛ (d) …éï éõ ýÛ ¶Û Ð üá 
 

 (xi) › Ûé E(uiuj) ≠ σ2 ______ Í Û¾Û Í ýÛ Û ÍÛ ›ÛÙýÛ  ™öé. 
   (a) Í È Û : Í ÛÐ ü ÍÛ×¼Û ×µ Û (b) ¼Û Ðäü Ü ÈÛ µÛ Í Û¾ÛÁéõ ”Û ©ÛÛ 
   (c) Ü ÈÛ ÌÛ ¾Û -Ü ÈÛ ˜ÛÅÛ ¶Û© ÛÛ (d) …éï éõ ýÛ ¶Û Ð üá 
 

 (xii) RSS = ______. 

   (a) Residual Sum of Square (b) Rastriya Swayam Sevak 

   (c) Remedial Square System (d) …éï éõ ýÛ ¶Û Ð üá 
 

 (xiii) Ü ³ù˜ÛÅ Û ÁõÛ Ü ÉÛ  Ü ¶Û ýÛ ©Û ÍÛ×¼Û ×µ Û  ¾ÛÛé¦ éøÅ Û ¾Û Û× _____ Í ÈÛ ©Û×ª Û  ˜ÛÅ ÛÁ õÛÜ ÉÛ…Ûé Ð üÛéýÛ  ™öé. 
   (a) …éï õ (b) ¼Û é (c) ª Û¨ Û (d) …éï éõ ýÛ ¶Û Ð üá 
 

 (xiv) …¬ÛÙÜ ¾ÛÜ ©Û ÉÛÛ Íª Û = …¬ÛÙÉÛ Û Íª Û + _____ + ______. 

   (a) ½ÛæÜ ¾ÛÜ ©Û , ¸ÛóÛ ¬ÛÜ ¾Û ï õ©Û Û (b) Í Û×”ýÛ Û ÉÛÛ Íª Û , •Û Ü¨ Û© Û ÉÛ ÛÍ ªÛ 
   (c) …Û×ï õ ¦ øÛ ÉÛÛ Íª Û , • ÛÜ¨ Û© Û ÉÛ Û ÍªÛ (d) …éï éõ ýÛ ¶Û Ð üá 

___________ 
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1. Derive the estimators of Linear Regression Model with help of Matrix approach. 14 

      OR 
 Write notes on : 

 (a) Nature and scope of econometrics. 

 (b) Estimation of non-linear equation. 

 

2. Explain any two of the following with matrix approach : 14 

 (a) Heteroscedasticity 

 (b) Multicollinearity 

 (c) Auto-correlations 

 (d) Problems of specification error 

 

3. Write notes on any two :    14 

 (a) Dummy Variable. 

 (b) Test of structural stability of regression models. 

 (c) Interaction effects. 

  (d) Seasonal analysis. 

 

4. Explain any two of the following :   14 

 (a) Koyek model 

  (b) Partial adjustment model 

 (c) Adaptive expectations 

 (d) Almon approach to distributive-lag models. 

 

5. Select correct answers :    14 

 (i) In ‘BLUE’, E-stands for ______. 

   (a) Error (b) Estimates 

   (c) Estimators (d) None 
 

 (ii) Yt = bo + _____ xi. 

   (a) ao (b) b1 

   (c) a1 (d) None 
 

 (iii) In linear Regression Model ‘U’ stands for _____ variable. 

   (a) Random (b) Unbiased 

   (c) Constant (d) None 

 



AZ-110 8  

 (iv) Cov (Xu) = ______. 

   (a) 0 (b) 1 

   (c) 
–
X (d) σ 

 

 (v) If E(uiuj) ≠ 0 ______ problem arises.  

   (a) Homoscedasticity (b) Heteroscedasticity 

   (c) Serial correlation (d) None 
 

 (vi) 
∧
b1 = 

?

Σx
2
i

 

   (a) Σ(x – xi)
2 (b) Σxiyi 

   (c) Σy2
i
 (d) None 

 

 (vii) r2 = 1 – 
?

Σy2 

   (a) Σe2 (b) Σxy 

   (c) Σx
2 (d) None 

 

 (viii) 
xi – µ

S
x

 = ______. 

   (a) χ2 (b) F 

   (c) t (d) None 
 

 (ix) Bias of an estimator is defined as _____. 

   (a) E(
∧
b) – b (b) 

Σ xy

Σ x2 

   (c) E ( )x – –x
2

 (d) E ( )y – –y
2

 
 

 (x) Durbin-Watson test is a test for ______. 

   (a) Autocorellation (b) Lag-variable 

   (c) Biasness (d) None 
 

 (xi) If E(uiuj) ≠ σ2, ______ problem arises. 

   (a) Autocorrelation (b) Multicolinearity 

   (c) Heteroscadasticity (d) None 
 

 (xii) RSS = ______. 

   (a) Residual sum of square (b) Rashtriya Swayam Sevak 

   (c) Remedial square system (d) None 
 

 (xiii) In two variable regression model _____ independent variables are there. 

   (a) one (b) two 

   (c) three (d) none 
 

 (xiv) Econometrics = Economics + _____ + ______. 

   (a) Geometry, Elementory (b) Arithmatic Mathematics 

   (c) Statistics, Mathematics (d) None 

___________ 


